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Introduction
In contribution we provide our view on the remaining TBD’s in handover involving FR2 in NR.
Discussion
Interruption Time for FR2 

The two open items for FR2 HO are Tsearch for inter-band case and T∆, time for fine time tracking and acquiring full timing information. 
In RAN4#87, it was decided that Tsearch for inter-band case will be Tsearch = [N1*(2 or 4)* SMTC periodicity + 5] ms.  On a per-beam basis, the UE will need at most 1 sample for AGC and then an additional sample to acquire timing using SSB. Thus, the UE should not need more than 2 sample for search. 
Proposal 1: Tsearch for inter-band case shall be [N1*2* SMTC periodicity + 5] ms
With regards T∆, the finer time tracking is done after the UE has already acquired timing on a beam. This should not take more than 1 sample and there is no need to do a beam sweep at this point. 
Proposal 2: T∆ shall be 1 SMTC period
Inter FR HO (FR1-FR2 or FR2-FR1)

For inter FR HO, the other open item was how long of ago would the last measurement report need to be provided to assume that the RF chip for FR2 is on. Our proposal is to use a time of 500ms for this purpose, beyond which the UE will switch the chip off to save power. 
[bookmark: _GoBack]Proposal 3: Tprocessing is time for UE processing. Tprocessing can be up 20ms if UE provides the measurement report within the last [500] ms for the target cell before the handover command is received. Otherwise Tprocessing can be up 40ms.
Conclusions
In this contribution, we provide our inputs on interruption time during NR handover.
Proposal 1: Tsearch for inter-band case shall be [N1*2* SMTC periodicity + 5] ms
Proposal 2: T∆ shall be 1 SMTC period
Proposal 3: Tprocessing is time for UE processing. Tprocessing can be up 20ms if UE provides the measurement report within the last [500] ms for the target cell before the handover command is received. Otherwise Tprocessing can be up 40ms.
 
